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astructions:

=2 Write each answer on a new page

2 Use of a calculator is permitted

Q.
No.
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2]

Find a root lies between 1 and 2 of the equation x

Details
Attempt the following

Using_t_rapemidame. compute the area bounded by the curve describe
the following table: [consider h=0.01]

‘Marks  CO’s

' COol1,COo2,
CO3, CO4

din | [06]

X [1.47 MAB 1 1.49 1.50 st [1.52

Fx) 386 390 396  4.02 4.06 4.12
| |

|

-x-1=0

using bisection method. [Calculate up to 5™ iteration]

_|3] _Wriwggniﬁant digﬁ of the following numbers:

(1) 3.14159  (2) 1000 (3)  0.0035  (4) 30.056

' Q—Z | Attempt ANY THREE of the following: (8 Marks Each)
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" 24) | col,coz, |
| C03,C04

[W ~Apply Gauss Elimination method to solve the following system n-i?qualgn:

x+y+52=-12x+4y =12, 5x— y+z=10

2] Find y(1.4) ihrj—f = f where y(1) = 1 with h=0.2 using Euler’s met

hod.

r [3] ﬁiUé_i_m; Néwlun—Rap_hsoWis}ncﬁ{od, find a root of the equation correct to two ‘_ |

4] —_'l'he_pupﬂlatic;n of the town in the census

decimal places of the equation x3 —2x — 5= 0. Consider xy = 2,

is as given in the data. U
Newton's back word difference interpolation formula to estimate

population in the year 1996. i o -
Y ear (x): 1961 1971 ‘ 1981 1991 | 2001
TR _"'Tm_' 1|

l I’opulalinn(y_): Ta6 66
(in thousands) ‘
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